Trigonometry: Chapter 4 - Worksheet #2

Graph 2 periods for each function.
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TRIGONOMETRY
Sections 4.1 to 4.3
WORKSHEET 2

Write the equation of -
1) A Sin function with vertical shift up 10 .

€)= sunx +10

2) A Cos function with amplitude 2 and vertical shift dn 3 .

£(x)= 2 cosx -3

3) A Sin function moved dn 1, phase shift right # /2 and period = .

L= =1 + 2nUx-T/2)

4) A Cos function with period 67, amplitude 4 and phase shift right =z

L£Y= Yeos 13k~

5) A Tan function with phase shift left 1, period 3 and veritcal shift up 4 .

£ = ton Txr) +4

Name the maximum and minimum :

mox s

6) y =4 Sin x \r\(\m:_q _T‘_
3
7) y =5 -2 Sin 3x W\c\b('::{'
MmN = 3
Write the equation for each graph in terms of the Sin function :
arnp= | Per=2n
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psS= rant Th



